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10.

Udh AT% ¥hd & 91 UTa’ LR &1
faavor Q)

Mention about constant mesh type gear box

with a neat sketch.

Hacc AY <3y fiRR §fed @& IR o
TP 9% @4 & 1 fawr § fod |
OR (3121an)

Write kinematics of epicyclic gear.

s dfars fRR @ srgadfeq &1
fawar @ fod |

Mention rules of attachment and detachment

of an implement to a tractor.

Uh gdex H Ud SHCfc & Gol'\l &I
IR e A B Rl a1 ford |

NT6003 1611603

2019(0dd)

Time : 3Hrs. Sem. VI/(Agril.)
FT & NCE

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol & SR <, TAS U & A9 63(FH 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O



O'Ld

NRIENE
183U B Y)IM [18JOP Ul SuL1d9)s 1amod uonuajy

(k)0

| 2 lodbb] 1® hth AR kIR @ @) ik @)
9
[o1oys Jeau & yim dwind rejos 9qrIose(g

| 2
Llab 1b ®p ®RIEZ2 kIR © EE) ik ®)

"O1OYS JBAU B YIIM I¥Iq JI[NEIPAY 9qLIoso

(lprR)IO

| 3 Llob 1b ®f ©32] kIR ¢ bdd hlR ®)

9
O1O3[S J8AU B YIIM 3eIq ISIP 9qLIdSd

L

2 MM @ 2K Blh Yai

"SuoIISan() ALY [[e IoMSUy

0E=5X9

J dNOoUD

€091191 SI €009LN

aao0qe ay} jo auoN (p)
9A99IS (9)
axons (q)

alog (®)
SE uMOoUuy| SI JOpUI[Ad QuISUD JO JOJOWRIP oY, (1)

bephe (»)
mib (B)
g2p ()
php) (k)
(@ Ble B bbS Dled GR(PIY 1 Jios ()

woy) Jo 1V (P)
weds (9)
sotraned (q)
[eo1noa[ ()
(A319U9 JO $92IN0OS

A1epu099s S1 SUIMO[[0J AU} JO QUO YIIYA 0]

: pR| dbbb & hdb| PrRhe eB|bR
07=07X1 : suondo
3UIMo[[0J oY) WOIJ JIMSUR J[qeIINS JSOW Y} 9S00 )

vV dnoad

€009LN 4 €091191



1611603 14 NT6003

5.

gdId ¥T8d dled WX Ush dfared fewofl ford |

Write advantages of hydraulic system.

4

gISSifd YuIrell & <rd &l ford |
OR(3721dT)

Write a short note on ballasting of a tractor.
Uh ¢dexX Bl doReT R Gfdra feuofy
ford |
Write a short note on tractive efficiency.

4

2fdca g&gar ) va dféra Aie ford |

OR (3721dT)
Write a short note on weight transfer.

de ¢TaWY WX Udh dfdra die ford |

NT6003

(i)

(iif)

(iii)

(iv)

3 1611603

o fafervery @ g &1 sed 2 |
(@) d9rR

@) wi®

(¥) Eeita

(]) 379 & HIg T2 |

The ratio of actual air taken into the cylinder
to swept volume is called

(a) Volumetric efficiency

(b) Mechanical efficiency

(¢) Thermal efficiency

(d) None of the above

fafervsy § arafas ferar am gar 8k
W dicyd @ JI-UId & Had 2 |
(31) smIafre <ear

(@) I <egar

(¥) e qerar

() 39 9 BIg T8

The SI unit of torque is
(a) N-m

(b) Pa

(c)J

(d) None of the above

P.T.O
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xx) iR g greRema: 8d @
(31) 3r=@x ydrg Uy
(¥) =¥ yarg g
(&) <r=r
(?) 379 & HIs 2N

GROUPB

Answer all Five Questions.

ol uig gl & SR o

2.

NT6003

4x5=20

Write a short note on safety of tractor for hitching

system.

4

fefa gomrelt @ forg daexr gram wr wiira

faazor @

NT6003

(vi)

(vii)

(vii)

(viii)

5

1611603

s Rifevsy 4, fiReq &1 Aiss av<,

@ gRT aenfya fear srar 2
(37) ¥lfra

@) e

(|) @R

(]) spra+

Piston ring is made of
(a) Cast iron

(b) Copper

(c) Pressed steel

(d) Both (a) and (¢)

foreea R . ®T 94T BIdT @

() (o) 3k (@) <t

Modern tractors were made first time in

(a) 1855
(b) 1955
(c) 1755
(d) 1655

P.T.O



O'L'd

dA0Qe ) Jo duoN (p)
yog (9)

dwuind mop a1qerrep (q)
dwind mog 9djueisuo) (&)
Aqrensn axe sdwund 1ean)

Bk e B ped (2)

R ] €52 (B)

R e 6261 (B)

~UrR L) 6180 (k)

2 ID|2 blbd

Blabph3 kb kRh & bl ¢ 3bY bh

9A0qe 2y} Jo duoN (p)

3N 6'¢-67 (9)

3N GT-61 (@)

O 3N G'1-8°0 (B)

SI 103081

© JO [0y juolj ur ainssoid uonepur oy J,

(b) 2ye (i) (2)

2003 Bl @ BI Ing ()
203 (b)

AR Ablh (k)

g Ibp klzpd

(xx)

(x1%)

(x1%)

hbdple 22b3 IR bld Bkt BER|lls] (11AX)

€091191 11

€009LN

dA0qe 9y} Jo duoN (p)
mog (9)

J[X® IBJI pue J[Xe JuoILq (q)
x0q Jed3 pue duiduy ()

U0aM)q PONY ST YN[

Blep @ ke (2)

PR Sonik (1)

Malle I ()

@3 (i)

12 p2e & b @

Blp & |3:¢ b2 & RID MeY Mo 2:di

owely Jo 1yS1oy (p)
90UBILAO PUNOID) (0)

aseq [99yM ()

yoel], (k)

Se UMOUY| ST [937M Jedl pue

JUOJJ JO SqNU JO SANUID UddM)d(q dOUR)SIP Y ],

G591 (»)
651 (B)
6561 (k)
G581 (Ig)
e Ale Db Mb P20 22p 3 @llhle

€009LN 9

)

(x1)

(x1)

(111a)

€091191



1611603

(xvi)

(xvii)

(xvii)

(xviii)

10 NT6003

qraR P 3B BT 91T 2
CIELR I

(d) gsde YurTedl

(|) ra=R gomret
GRCR MICH

The vertical distance of P.T.O from draw bar
1s

(a) 10 cm

(b) 20 cm

(c) 30 cm

(d) 40 cm

SR 9 9 & . @) Seafar o 2
(31) 10 ¥ #.
() 20 &. .
(&) 30 4. #.
(%) 40 9. .

Which of the following tractor gives
maximum traction ?

(a) Power Tiller

(b) Tractor

(c) Tractor with cage wheel

(d) (a) and (b)

NT6003

(x)

(xi)

(xi)

(xii)

7 1611603

Jord, 390 4 fee foar omar 2@
(an) s 3k xR st

(@) W< e 3R RIR gard
(&) <r=r

(@) T A BIg &

Gear box is fitted in the tractor to increase
(a) Driving torque

(b) Momentum

(c) Force

(d) All of the above

dFex ¥ fiRR 9feg o @ dedr @
(31) gsfawT <fe

(@) A=A

(W) Ia

(%) Swiaa g+

Castor angle varies from
(a) 4'-8'

(b) 0'-4'

(c) 10"-12'

(d) 12'-16'

P.T.O
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11.

OR(37214T)

Mention in detail about automatic position control
system with a neat sketch

Udh 9% T & A1l w@arfad i
=T gomelt & IR # faar @ fad |

Mention terminologies related to traction in detail.
6
SdRME 9 I3 usEfaal & fad |
OR(37214T)

Write a short note on rim pull and rolling resistance

RA ga sk AfelT yfoRig R «|@féra Are
ford |

E

1611603 17 NT6003

11.

OR(3721dT)
Mention in detail about automatic position control
system with a neat sketch

Udh 9T% d & A1 @arfad e
e gorelt @& IR # faar @ fad |

Mention terminologies related to traction in detail.
6
SRHE 9 I3 usEferal & fad |
OR(37214T)

Write a short note on rim pull and rolling resistance

Ru ga siiv AfedT yftRig wr wdfera |re
ford |

L
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